S = Sy + vot +at?

W = Fdcos6
vV=rw

x = A cos(wt)
PyA — pA—pghA =0
Q = mcAT
V2
W = nRT In(-5)
V1

P1V1y — PZ VZV

S = So + vt +at?

W = Fdcos@
V=Tw

x = Acos(wt)

PyA — pA —pghA =0
Q = mcAT

W = nRT ln(Z—i

P1V1y — P2 sz

Free =ma

J =FAt =Ap

T = Fyerpl

v = —wA sin(wt)

P+ pg+ %pv2 = constant
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ac=7

w=at+ wy
Yt =la

a = —w?A cos(wt)

L = Ly(1 + aAT)

Q =Lm PV = nRT

AU =-W AU =Q
=1 _ -1 W%

ng =T = g1 I

Foet = ma
J=FAt =Ap

T = Fyerpl

v = —wA sin(wt)

P+pg+ %pv2 = constant

Q=Lm
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a.=—
¢ r

w = at + wy
Yt =la

a = —w?A cos(wt)
L = Lo(1 + aAT)
PV =nRT

AU =Q

w

e=--=1-|%]
Qn

Qy

Wiotar = AK

a=ra

v=Af

B
AL Ay

V = V,(1 + BAT)

W = PAV
p(V,=Vy) =W
Wiotar = AK
a=ra
v=Af
E_FK
AL Ay

V =V,(1 + BAT)
W = PAV

p(Vo=V))=W
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F =it £ =" ¢p = EAcos W = qEd
-9 i_1t.,.1 — _

Y c ¢ G C=0+0G R =Ry +R;
11,1 5 .
—=—=—4— V =IR P=1V =1I°R F = |q|vBsin6
R Ry R,

F=1Bsin@ T = NIABsin 6 B=% @ = BAcos®

& = wAB sin(wt) Junction: [;, =I5,y  Loop: sum of Vin loop =0

-1 2 sinfa _ mp 1. 1_1 _y_s
I—ZEOCEmax sinfp  ng s+s’_f m_y_s
1 1 1 1 ma .
f_(n_l)(R_l_E) rz—rl—(m+5)/1 ym—R7 dsinf = mi
Momentum is conserved in all collisions; Energy is conserved in elastic collisions.

7
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kq.q klq|
F=r;2Z E=-—7 @p = EAcos@ W = qEd

- @ i_1t.1 — _

E—EOA c=otg C=C+C, R=R,+R,
1141 V=IR P=1IV=I%R F = |q|vBsin®
R Ry R,

F =IIBsin8 T = NIAB sin 6 B =t @ = BAcos@
& = wAB sin(wt) Junction: I, = I, Loop: sum of V in loop =0

_1 2 sinfa _ np 1, 1_1 _y_s
I—ZEOCEmax sinf,  ng s+s’_f m_y_s
1 11 1 ma .
;_(n_l)(R_l_E) rz—rl—(m+5)/1 }’m—RT dsinf = mAa

Momentum is conserved in all collisions; Energy is conserved in elastic collisions.



